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AP Physics Units, Vectors, and Conversion Quiz

Name ﬁm\g

1. The Wmmn unit for length is the: W m\»ﬁkmu\m)
2. The base unit for mass is the: mﬁ MOD o

3. The base unit for time is the:

N

Secon ok

4. 250mm=0.0000001G, 2 55T
5. 65.54km= 68390000 mm £.554 <O

6. 4.5+ 105 mr, = 500 L

lin=254em 1609 m=1mi 11.=0.264 gal lyr=
365 days

1m=3281f 1.609 km = 1 mi Mb_gn;m 1 day =24 brs

(o
7. convert 44 mph to @hﬂﬁk Wm_o\%wﬁ wh%,m m~ bw\\,)
s ssws=_ O kg g lbs ., Ww
-
5 A-dibs
3 BU_— ~
9. 224in m w.%& ia ¥ g.M&oxzwnlbI?.. -
Ficn IO e
@oez Cﬁ&gj 2 OFID “HVAE K.\u%.\ﬁ:l —
P01 | & 36004

11. Solve for the Eﬁuﬁm sides and angles of the woﬁum friangle:

SInELT
W m,ﬁ.,_\w

\a

1 2.2 m

66°

pae I/10)10

2 5D
12. Solve for the missing sides and angles of the following triangle: \} \_\}

534 2

A A
\1& a md, TAN

I3. Solve for the missing sides and angles of the following triangle;

257
Imf.r {Fsnbs M L m
14. Add the following vectors, Include a drawing of the resultant. List the Enmanﬁ N N\ !

Vmﬁ@&nﬂnﬁMowEnnﬂﬁgﬂ Nm# - J.w.\v
f@.s? W.v ;
m_.?,,\ @\...QAZL%M‘MU /

PN
15. Add the following vectors. Fn_nmn a drawing of the resultant, List the magnitude
and direction ofthe resuttant. -
¥ =)L Y &nx. ; 0% 35
Cy =¢.2 T B * o5 8O

\ro _u,> Um|
L By 2y sin50)

¢ following variables represent values consistent with the following
units, which of the equations are consistent with regards to units on each side of the
equals sign.

X - meters (m)

v —meters per second (m/s)
t-- seconds (s) _

a—meters per second squared AE\umu

16.x=vt B inconsistent
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17.vmat+¥ap noﬁwﬂnﬁe

8. =2ax? consistent igonsistent ™

‘Which of the following are vectors?

19. Time wﬂ@

20. force «@o
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ANSWERS - AP Physics Multiple Choice Practice — Kinematics

Solution
Total distance = 60 miles, total time = 1.5 hours; average speed = total distance/total time

Area bounded by the curve is the displacement By inspection of particle A the positive area
between 0 and 1s will be countered by an equal negative area between 1 and 2s.

Constant non-zero acceleration would be a straight line with a non-zero slope

Area bounded by the curve is the displacement By inspection of particle A the positive area
befween 0 and 1s will be countered by an equal negative area between 1 and 2s.

Area bounded by the curve is the displacement By inspection the negative area between 0 and 1s

will be countered by an equal negative area sometime between 1 and 2s.
Between 0 and 1 s; d; = vt; from [ to 11 seconds; d; = vot + Y at; d = d; + d,

Since the slope is positive and constant, so is the velocity, therefore the acceleration must be
ZEro

For a horizontal projectile, the initial speed does not affect the time in the air. Use vo, = 0 with
10 m = % gi?

The time in the air for a horizontal projectile is dependent on the height and independent of the
initial speed. Since the time in the air is the same at speed v and at speed 2v the distance (d =
vt} will be twice as much at a speed of 2v

Average velocity = total displaceient/total time; magnitude of total displacement = 500 m (3-4-

5 triangle) and total time = 150 seconds

The acceleration is constant and negative which means the slope of the velocity time graph must

have a constant negative slope. (Only one choice has the correct acceleration anyway)
From rest, h =14 g?

At the top of its path, the vertical component of the velocity is zero, which makes the speed at

the top a minimum. With symmetry, the projectile has the same speed when at the same height,

whether moving up or down.

g points down in projectile motion. Always.

For a horizontal projectile; h = % gt (initiél vertical component of velocity is zero)

At every point of a projectiles free-fall, the acceleration is the acceleration due to gravity
Average speed = total distance/total time = (8 m — 2 m)/(1 second)

For a horizontal projectile; h = % gt” (initial vertical component of velocity is zero)

The area under the curve is the displacement, There is more area under the curve for Car X,

Area under the curve is the displacement. Car Y is moving faster as they reach the same point,

Uniformly accelerated means the speed-time graph should be a stright line with non-zero slope.

The corresponding distance-time graph should have an increasing slope (curve upward)

From the equation d =¥ at’, displacement is proportional to time squared. Traveling from rest
for twice the time gives 4 times the displacement (or 4 m). Since the object already travelled 1

m in the first second, during the time interval from 1 s to 2 s the object travelled the remaining 3

m

Answer

2w o 0 U o @m o=
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To travel straight across the river, the upstream component of the boat’s velocity must cancel the
‘current. Since the speed of the current is the same as the speed of the boat, the boat must head
directly upstream to cancel the current, which leaves no component across the river

Viy = 200 m/s sin 30°= 100 m/s. At maximum height vy =0. Use v,? = vy + 2gh
Acceleration is proportional fo Av. Av =y, — Vi=vat(—v)

From a height of 45 m (= gt’) it takes 3 seconds to strike the ground. In that time, the ball
thrown traveled 30 m. v = d/t

9.8 m/s* can be thought of as a change in speed of 9.8 m/s per second.
Vvi=0m/fs; v=30m/s; t=6s; ' :

velocity of package relative to observer on ground v, = v, =
velocity of package relative to pilot vg=v;=
velocity of pilot relative to ground v, =

Putting these together into a right triangle yields v,.2 + vo? = v,?
While the object momentarily stops at its peak, it never stops accelerating downward,

Maximum height of a projectile is found from Vy = 0 at max height and v;? = v;,? + 2gh and gives
haex = Vi /28 = (vi sin 0)%/2g; Fired straight up, 6 = 90° and we have v, = .

Plugging this initiat velocity into the equation for a 45° angle (sin 45° =) gives

hoew = (P2g =172

g points down in projectile motion. Always.
horizontal velocity v, remains the same thorughout the flight, g remains the saime as well,

A velocity-time graph represents the slope of the displacement-time graph. Analyzing the v-t
graph shows an increasing slope, then a constant slope, then a decreasing slope {to zero)

For a dropped object: d =14 gt?

For a horizontal projectile, the initial speed does not affect the time in the air. Use Voy = 0 with
10 m =% gt*fo gett = For the horzontal part of the motion; v = d/t

A velocity-time graph represents the slope of the displacement-time graph. Analyzing the v-t
graph shows a constant slope, then a decreasing slope to zero, becoming negative and increasing,
then a constant slope. Note this is an analysis of the values of v, not the slope of the graph itself

By process of elimination (A and B are unrealistic; C js wrong, air resistance should decrease the

acceleration; E is irrelevant)

The 45° angle gives the maximum horizontal travel to the original elevation, but the smaller angle
causes the projectile to have a greater horizontal component of velocity, so given the additional
time of travel allows such a frajectory fo advance a greater horizontal distance. In other words
given enough time the smatler angle of launch gives a parabola which will eventual cross the
parabola of the 45° Jaunch.

The area under the curve of an acceleration-time graph is the change in speed.

In the 4 seconds to reach the ground, the flare travelled 70 m/s x 4 s =280 m horizontally.

]
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In the 4 seconds to reach the ground, the flare travelled 70 m/s » 4 s =280 m horizontally. The
plane travelled d = vit + % at’ = (70 m/s)(4 s) + (0,5)(0.75 m/s*)(4 5)* = 280 m + 6 m, or 6 m
ahead of the flare.

Positive velocity = positive slope. Negative acceleration = decreasing slope (or downward
curvature '

The slope of the line represents her velocity. Beginning positive and constant, going to zero,
then positive and larger than the initial, then negative while the line returns to the time axis

Dropped from a height of 9.8 m, the life preserver takes (9.8 m = 4 gt¥); t = 1.4 seconds to reach
the water. In that 1.4 seconds the swinmer covered (6.0 m —2.0 m) = 4.0 m meaning the water
speed is (4.0 m)/{(1.4 s) '

The ball takes time 7/2 to reach height . Using v, = 0 at maximum height and gives the initial
speed as 4H/T. In addition from the top H =1 g(T/2)* = gT¥8. Plugging in a time T/4 givesd =
(AH/TYT/4) + Y5 (~g)(T/4Y =H - % (eT%8) = % H

While the object momentarily stops at its peak, it never stops accelerating downward. Without
air resistance, symmetry dictates time up = time down. With air resistance considered, the ball
will have a larger average velocity on the way up and a lower average velocity on the way down
since it will land with a smaller speed than it was thrown, meaning the ball takes longer to fali.

Total distance = d. Time for first % d is t; = (%d)/v = 3d/4v. Time for second part is t, = (% dy
(2 v} =2d/4v. Total time is then t; + &, = 5d/4v. Average speed = d/(5d/4v)

Positive acceleration is an increasing slope (including negative slope increasing toward 7ero) or
upward curvature

With air resistance, the acceleration (the slope of the curve) will decrease toward zero as the bail
reached terminal velocity, Note: without air resistance, choice (A) would be correct

Since for the first 4 seconds, the car is accelerating positively the entire time, the car will be
moving fastest just beofre slowing down after t = 4-seconds. .

The area under the curve represents the change in velocity. The car begins from rest with an’
increasing positive viéj;jﬁer 4 seconds the car begins to stow and the area under the curve
from 4 to 8 seconds dputers the increase in velocity form 0 to 4 seconds, bringing the car to rest.
However, the car never'changed direction and was moving away from its original starting
position the entire time,

The ball will land with a speed given by the equaion v* = v +- 2gH or v =, Rebounding with %
the speed gives a new height of ve=0 = (% )* + 2(—g)hoew .

The velocity-time graph should represent the slope of the position-time graph and the
acceleration-time graph should represent the slope of the velocity-time graph

It’s a surprising result, but while both the horizontal and verticla components change at a given
height with varying launch angle, the speed (v + v*)'? will be independent of « (try it!)

sz = ij +2ad 7 -
& =7 m/s)2 5) + % (10 m/s?)(2 )% dy = (-7 m/s}(2 s) + % (-10 n/s*)(2 5)? -

Range of a projectile R = (vi* sin 28)/g and maxitmum range occurs at 0 == 45°, which gives v; =.
Maximum height of a projectile is found from v, = 0 at max height and v,2= v,* + 2gh and gives
hiax = viy*/2g = (v; sin 8)%/2g. Maximum range occurs at 45°, which gives h = (Rg)(sin 45)*/2g
vi = v + 2ad .

The diagonal of a face of the cub;'-: is m, The diagonal across the cube itself is the hypoteneuse
of this face diagonal and a cube edge: ‘
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Instantaneous velocity is the slope of the line at that point

Displacement is the area under the curve. Maximum displacement is just before the car turns
around at 2.5 seconds.

Range of a projectile R = (v sin 26)/g and maximum range occurs at § = 45°, which gives v, =.
Using 6 = 30° gives R, =R sin 60°

(advanced question!) The time for one bounce is found from —v = v + (-g)t which gives t=2v/g,
We are summing the time for all bounces, while the velocity (and hence the time) converge in a
geometric series with the ratio vou/v, =1 <1 to

The acceleration is the slope of the curve at 90 seconds.

From the equation d = !4 at?, displacement is proportional to fime squared. Traveling from rest
for twice the time gives 4 times the displacement (or 4 I1). Since the object already travelled h in
the first second, during the time interval from 1 s to 2 5 the object travelled the remaining 3h

dzvit+‘/zgt1

The relative speed between the coyote and the prairie dog is 14.5 m/s. To cover the 45 m
distance between them will take t = dfv = (45 m)/(14.5 m/s)

For the first part of the trip (the thrust): d; = vit + % a® = 0 m 4+ % (50 m/s3)(2 s)* = 100 m
For the second part, we first find the velocity after the thrust v = at = 100 m/s and at the
maximum height v;= 0, so to find d; we use v¢ = vi? + 2ad, which gives d, = 510 m

Total displacement west = 1100 m; total displacement south =400 m. Use the Pythagorean
theorem.

For a horizontal projectile (v, =0 m/s) to fall 1 m takes (using I m =3 gt?) 0.45 seconds. To
travel 30 m in this time requires a speed of d/t = (30 m)/(0.45 5)

Maximum height of a projectile is found from vy = 0 m/s at max height and (0 m/s)? = v* + 2gh
and gives h=v/2g

The height at which the projectile is moving with half the speed is found from Cavy=v?+2(-
g)d which gives d = 3v¥8g=0.75 h ‘

Looking at choices A, D and E eliminates the possibility of choices B and C (each ball increases
its speed by 9.8 m/s each second, negating those cheices anyway). Since ball A is moving faster
than ball B at all tinies, it will continue to pull away from ball B (the relative speed between the
balls separates them), o

Since they all have the same horizontal component of the shell’s velocity, the shell that spends
the longest time in the air will travel the farthest. That js the shell launched at the largest angle
(mass is irrelevant).

This is merely asking for the horizontal range of a horizontal projectile. The time in the air is
found from the height using h= % gt? which gives t=. The range is found using d = vt

Flying into the wind the airliners speed relative to the ground is 500 knvh - 100 km/h = 400
km/h and a 3000 km trip will take t = d/v = 7.5 hours. Flying with the wind the airliners speed
relative to the ground is 500 km/h + 100 kmvh = 600 km/h and 2 3000 km trip will take t = d/v =
5 hours making the total time 12.5 hours,

The horizontal component of the velocity is 28.3 m/s cos 60°= 14.15 m/s, Ifthe ball is in the air
for 5 seconds the horizontal displacement is x = v, ¢

since (from rest) d = ¥ gt?, distance is proportional to time squared. An object falling for twice
the time will fall four times the distance.

-A
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vi = -40 m/s (negative since it is moving down when landing). Use v, = v; + (-g)t

For a horizontal projectile (vi, = 0 m/s) to fall 0.05 n takes (using 0.05 m = % gt?) 0.1 seconds.
To travel 20 m in this time requires a speed of d/t = (20 m)/(0.1 s)

9.8 m/s” means the speed changes by 9.8 m/s each second
Once released, the package is in free-fall (subject to gravity only)

For the first part v = at = 8,0 m/s and d = % at® = 40 m. In the second part of the trip, the speed
remains at 8 m/s, and fravels an additional d = vt =80m

The definition of termincal velocity is the velocity at which the force of air friction balances the
weight of the object and the object no longer accelerates.

To reach a speed of 30 m/s when dropped takes (using v = at) about 3 seconds. The distance
fallen after three seconds is found using d = %4 at®

9.8 m/s? means the speed changes by 9.8 m/s each second (in the downward direction)

Total distance = 800 km. Times are (400 km)/(80 km/h) = 5 hours and (400 km)/(100 knv/h) = 4
hours, Average speed = total distance divided by total time.

Av=at

9.8 m/s* means the speed changes by 9.8 m/s each second

Velocity is a vector, speed is a scalar

Choices A, B, C and E all refer to vectors

Falling on the Moon is no different conceptually than falling on the Earth

Since the line is above the t axis for the entire flight, the duck is always moving in the positive
(forward) direction, until it stops at point D

One could analyze the graphs based on slope, but more simply, the graph of position versus time
should represent the actual path followed by the ball as seen on a platform moving past you at
constant speed,

Other than the falling portions (a = --9.8 m/s?) the ball should have a “spike™ in the acceleration
when it bounces due to the rapid change of velocity from downward to upward.

The same average speed would be indicated by the same distance travelled in the time interval

At ts, car #1 is ahead of car #2 and at t,, car #1 is behind car #2. They were in the same position
somewhere in between

Average speed = (total distance)/(total time). Cars #2 and #3 travelled the same distance.

If you look at the distance covered in each time interval you should nitce a pattern: 2 m, 6 m, 10
m, 14 m, 18 m; making the distance in the next second 22 m.

Instantaneous speed is the slope of the line at that point.
A non-zero accleeration is inidcated by a curve in the line

Net displacement north = 300 miles sin 30° = 150 miles
Net displacement east = (300 miles cos 30° — 600 miles) =~ 340 miles, or 340 miles west.
Angle north of west is

Maximum height of a projectile is found from v, = 0 m/s at max height and (0 m/s)* = v + 2gh
and gives h = v/2g, At twice the initial speed, the height will be 4 times as much

el

U 0 U ®w U =
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Average speed = total distance divided by total time = (0.48 m)/(0.2 s)
d =1 at’ (use any point)

v=v;+at

Acceleration is the slope of the line segment

Displacement is the area under the line

Vi=30m, ve=0,d=45m;

In a vacuum, there is no air resistance and hence no terminal velocity. It will continue to
accelerate,

A projectile launched at a smaller angle does not go as high and will fall to the ground first.
Vi =V;cos 8

Velocity is the slope of the line.

Positive acceleration is an upward curvature

Average acceleration = Av/At

d=1%at

Acceleration is the slope of the line segment

Displacement is the area between the line and the t-axis. Area is negative when the line is below
the t-axis.

After two seconds, the object would be above it’s original position, still moving upward, but the
acceleration due to gravity is always pointing down

Constant speed is a constant slope on a position-time graph, a horizontal lne on & velocity time
graph or a zero value on an acceleration-time graph :

Average speed = total distance divided by fotal time = (7 cm)/(1 s)
d =" at’ (use any point)

Maximum height of a projectile is found from vy = 0 m/s at max height and (0 m/s)? = v+ 2gh
aud gives h =v/2g. Mass is frrelevant. Largest initial speed = highest.

Using d = Y% at? shows the height is proportional to the time squared. %; the maximum height is
times the time.

Stopping distance is found using v, =0 = v + 2ad which gives d = v%/2a where stopping
distance is proportional to initial speed squared.

Vi= v+ gt

Moving away from the origin will maintain a negative position and velocity. Slowing down
indicates the acceleration is opposite in direction to the velocity.

The arrow travels equal horizontal distances in equal amounts of time. The distance fallen is
proportional to time squared. The arrow will have fallen a total of 0.8 m in the next 5 m
horizontally, or an additional 0.6 m.

Tan 53°=h/(8 m)
d =% at

m U &m0 W oo
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Maximum height of a projectile is found from v, = 0 at max height and v,> = v;,” + 2gh and gives
Bimex = v %/2g = (vi 5in 8)*/2g

Acceleration is the siope of the line

Since the first rock is always traveling faster, the relative distance between them is always
increasing.

Stopping distance is found using ve =0 = vi* + 2ad which gives d = v/%/2a where stopping
distance is proportional fo initial speed squared.

At an angle of 120°, there is a component of the acceleration perpendicular to the velocity
causing the direction to change and a component in the opposite direction of the velocity,
causing it to slow down,

d =% at®
The displacement is directly to the left. The average velocity is proportional to the displacement

The velocity is initially pointing up, the final velocity points down, The acceleration is in the
same direction as Av = v¢ + (—v;)

The car is the greatest distance just before it reverses direction at 5 seconds,

Average speed = (total distance)/(total time), the total distance is the magnitude of the area under
the line (the area below the t-axis is considered positive)

Speed is the slope of the Hne.
velocity is pointing tangent to the path, acceleration (gravity) is downward.
Average speed = (fotal distance)/(total time)

To travel 120 m horizontally in 4 s gives v, = 30 m/s. The time to reach maximum height was 2
seconds and vy = 0 at the maximum height which gives vi; =20 m/s. v;=

The relative speed between the two cars is v; — v» = (60 knvh) — (40 km/h) = 100 knvh. They
will meet in t = d/V,guie = 150 km/100 kivh

Acceleration is independent of velocity (you can accelerate in any direction while traveling in a
ny direction),

12/4 =3, now the units: M= 10°, T= 10" M/T = 10 = micro (1)

Acceleration is independent of veloeity (you can accelerate in any direction while traveling in a
ny direction). If the accleration is in the same direction as the velocity, the object is speeding up.

As the first bales dropped will always be traveling faster than the Iater bales, their relative
velocity will cause their separation to always iincrease,

Horizontally, the bales wiil all travel at the speed of the plane, as gravity will not affect their
horizental motion. D = vt = (50 m/s)(2 seconds apart)

@
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Traveling in still water will take a time £ = d/y = 2d/v. Traveling perpendicularly across the
stream requires the boat to head at an angle into the current, causing the relative velocity of the
boat to the shore to be less than when in still water and therefore take a longer time. Since this
eliminates choice E and choices D and C are identical, that leaves A as the only single option.

If you really want proof: : :

To show C and D fake longer, we have the following (let the current be moving with speed w):
traveling downstream; v,y =v + w and time =

traveling upstream; vy = v —w and time =

total time =

When the first car starts the last lap, it will finish the race in 15 seconds from that point. Tn 15
seconds, the second car will fravel (1 kn/12 s) x 15 s = 1250 m so the first car must be at least
250 m ahead when starting the last lap to win the race.
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AP Physics Free Response Practice — Kinematics - ANSWERS

198281
a. For the first 2 seconds, while acceleration is constant, d = ¥ at?
Substituting the given values d = 10 meters, t = 2 seconds gives a = 5 m/s*

b.  The velocity after accelerating from rest for 2 seconds is given by v =at, so v = 10 m/s

¢.  The displacement, time, and constant velocity for the last 90 meters are related by d = vt,
To cover this distance lakes t = d/v =9 s. The total time is therefore 9 + 2 = 11 seconds
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Two general approaches were used by most of the students.
Approach A: Spread the students out every 10 meters.or so. The students each start their stopwatches as the
runner starts and measure the time for the runner to reach their positions.

Analysis variant 1: Make a position vs. time graph. Fit the parabolic and linear parts of the graph and establish
the position and time at which the parabola makes the transition to the straight line.

Analysis variant 2: Use the position and time measurements to determine a series of average velocities (Vay =
Ax/Ar } for the intervals. Graph these velocities vs. time to obtain a horizontal line and a line with positive slope.
Establish the position and time at which the sloped and horizontal lines intersect.

Analysis variant 3: Use the position and time measurements to determine a series of average accelerations (Ax =
vof + %3 af’, Graph these accelerations vs. time to obtain two horizontal lines, one with a nonzero value and one
at zero acceleration. Establish the position and time at which the acceleration drops to zero,

Approach B: Concentrate the students at intervals at the end of the run, in order to get a very precise value of
the constant speed vy, or at the beginning in order to get a precise value for a. The total distance D is given by a
= at,> + v(T — 1.}, where T is the total measured run time. In addition v,= at, These equations can be solved
j for a and t, (if v, is measured directly) or vyand t, (if a is measured directly). Students may have also defined
and used distances, speeds, and times for the accelerated and constant-speed portions of the run in deriving
these relationships. - '
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a. 1. Use the kinematic equation applicable for constant acceleration: v = vo + at. For each time interval, substitute
the initial velocity for that interval, the appropriate acceleration froin the graph and a time of 5 seconds.
5seconds; v=0+(0)5s5)=0
10 seconds: v=10+ (4 m/s°)(5 s) = 20 mls
15 seconds: v =20 mis + (0)(5 8) =20 mis
20 seconds: v =20 mls + (-4 m/s’}(55) =0

25
29
15
10

Veloclty (m/s)
(]

b. 1. Use the kinematic equation applicable for constant acceleration, x = X, + vot + % at®. For each time interval,
substitute the initial position for that interval, the initial veloo:ty for that interval from part (&), the appropriate
acceleration, and a time of 5 seconds.

5 seconds: x =0+ (0)(5 s) + % (0}5 s¥ =

10 seconds: x =0+ (0)}3s)+ % (4 mfsz)(S §¥=50m

15 seconds: x =50 m + (20 m/s)(5 s) + % (0)5 s)* =150 m

20 seconds: x = 150 m + (20 m/s)(5 s) + %% (4 m/s?)(5 5)° = 200 m

E
o
z 130k vo-eeoea T T L SEPP R
1 v
E ' i i
8 t ' I
....... dommmanawdanen I TR |
g 10 q 1 1
(=) ¥ 1 [}
P ' 1
i i 1
50 R R R R Bl b Al kel e LR Sl -
1 t
1 1 ! t
t 1 ! t
L 1, A
[ 5 16 15 i




199481

a. The horizontal component of the velocity is constaint so vit = d where v, = vo cos 6 = 16 m/s
t=div=2s

b. The height of the ball during its flight is given by y = vo,t + ¥4 gt® where voy = vosin 0 =12 m/s and g = --9.8
m/s? which gives att =25, y = 4.4 m. The fence is 2.5 m high so the ball passes above the fence by 44 m —2.5

m=19m
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a, The car is at rest where the line crosses the t axis. Att=4sand 18 s.

b. The speed of the cart increases when the line moves away from the t axis (larger values of v, positive or
negative). This occurs during the intervals t =4 to 9 seconds and t = 18 to 20 seconds.

The change in position is equal to the area under the graph. From 0 to 4 seconds the area is positive and from 4
to 9 seconds the area is negative. The total area is —0.9 m. Adding this to the initial position gives x = xp + Ax =

20m+(=09m)=1.1m
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e. i y=1% gt (vo, =0 m/s) gives t = 0.28 seconds.
i, Xx=wt=022m :
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a. vi=vy+tat=60ms

b. The height of the rocket when the engine stops firing y, = % at? = 60 m
To determine the extra height after the firing stops, use v = 0 m/s = v;2 + 2(-g)y. giving y,= 180 m
total height =y, + v, =240 m )

¢.  To determine the time of travel from when the engine stops firing use ve= 0 m/s = v; + (~g)t, giving b, =6 s.
The total time is then 2 s + 6 s = 8 seconds

1979M1

a.  The speed after falling a height h is found from vé = vi% + 2gh, where vi=0 m/s giving v =

b/c. During the flight from P, to P, the ball maintains a horizontal speed of and travels a horizontal distance of thus
(using d = vt) we have = t. During the same time t the ball travels the same distance vertically given by .
Setting these expressions equal gives us t =% gt*. Solving for t and substituting into the expression of L gives

d.  During the flight from Py to P, the ball maintains a horizontal speed of and the vertical speed at P; can be found
from v, = vi + at where vi = 0, a = g and t is the time found above. Once v, and v, are known the speed is
giving
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b. Distance and time are related by the equation D
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9.8 m/s?

d. The slope of the graph of D vs. t*is % g. The slope of the line shown is 4.9 m/s’ giving g
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e.

(example) Do several trials for each value of D and take averages. This reduces personal and random error.
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